® x+2<1 @ -2x+1>0 ® 2x-2<-3
®@)s-—x>1 ® x-1<1
@ 5-x>1°A

x=30H5-3=2>1 (%)




2x—4<6-3x

5x < 10

Lx<2




3x—ax5x 9 7k x<5 4w, a o g Fotoiet

-10




®)2

3x—4 <2 A
®x=20H3x2-4<2(AA)




5.

O<a<b<1¥9 W, o3 F 2 A7

@ a<da® @ a®>>b ® a<ab
1 1
@_>— ® -a® < -b?
a b
" . 11 1 1
@a, bl F27tES W, a>b0]H - < E,a<b0]@— >
a a

2 2537w




6. -11<3a-5<7 -5<2p+9<-1L M a-b2 HY=?

@® -9<a-b<3 @ -3<a-b<3

® -9<a-b<-1 Q3<a b<11
® -3<a-b<1l

B

-11<3a-5<7—-2<a<4-0Q
—5<2b+9<-1—-T<b<-5©°|=} s}H
©lA ZH7te] ol -1 & Bajw
5<-b<7©®°|tt

w2t 9+© 2 5t 3<a-b < 11 o[t}




e

ul

3(x+2)>7(x-1)+1

—4x > -12




R R e L

A a o A2

-3 @ -5 ®0 @g ® 3
554 255 203 o opuiol & getol st
2(2x + 5) > 6a — 3(2x — 3) of| A

4x+10>6a—-6x+9, 10x > 6a — 1
6a —1
10
o % 71 e
6a —1
10
6a =1

T

o
=

F7hoolng

=0

a=

1
6




> -2 & BEFE AA% <) 575 2

>
>
> Hg: -10
>

xok_3H20 Do) opme] 122 Bkw
4 3 6
3x—-3k—-12-8x > -10
—5x>2+ 3k
2+ 3k

XS —————

Ut

25 <-2-3k< 30
27 < -3k < 32

32
-—<k<-9
3 <

whebA, A4 kg2 -10, -9 ol




10.

® x<-3

® x>-1

R
Q
=
|
=
Vv
w
—
IN)
|
—_
~—
£
)
£
—
N}
|
—_
~—
=
\Y%
w
—
IN]
|
—_
~—




3x+1 x+2
<
a

,05(x+1) < 0.3(x+3)9

0.5(x+ 1) < 0.3(x + 3) 2] FHle] 10
5(x+1) <3(x+3)

5x+5<3x+9

T x<2

WL T2 o) ope] 4o ol

o
4
oli
o
)

a
4(3x+1) <a(x+2)
12x+4 <ax+ 2a
(12-a)x<2a-4

T HEXNO 7L AR ZoBuR 12-g> 00| = x <

2a — 4

12-a

24 —2a =2a—-4
La="7

2a -4
12 —a




